Trying to right align the numbers inside a matrix (or table) becomes impossible with the new version
3.4 of OOo. It was easily possible before.

In order to make sure this distortion is visible for you, I've exported the present document in hybrid
form (pdf that still can be opened and analyzed with OO0); the math code is reproduced as text on right
side of the line to facilitate comparisons.

I've observed this bug on the French and English versions of OOo 3.4 with Mac OS Snow Leopard and
Lion.

-1 is matrix {- 1 #2##3#45)
-2 alignr matrix {- |H2##3#45)
3 45
-1 i s matrix {alignr - 1#2##3#45)
-1 42 matrix {alignr -1# alignr 2##3#45}. It seems OK, but isn't :
-1 23 . . .
4 matrix {alignr -1# alignr 23##3#4} and so on
-1 23
3 4 matrix {-1# alignr 23##3# alignr 4##2# alignr -6,1}



As shown below, right aligning the numbers inside a matrix (or table) was possible with OOo versions
prior to 3.4.

I've exported the present document in hybrid form (pdf that still can be opened and analyzed with OOo)
with a version prior to OOo 3.4; the math code is reproduced as text on the right side of the line to
facilitate comparisons.

I've observed this bug on the French and English versions of OOo 3.4 with Mac OS Snow Leopard,
Mac OS Lion and M$ Windows 7.

-2 matrix {- 142443445

3 45

1 4§ alignr matrix {-1#2##3#45} is the good, simplest syntax ever
-2 matrix {alignr -1#2##3#45)

3 45

3_ ! 4? matrix {alignr -1# alignr 2##3#45}

-1 23 . . .

3 4 matrix {alignr -1# alignr 23##3#4}

-1 23

3 4 matrix {-1# alignr 23##3# alignr 4##2# alignr -6,1}
2 =6,

More with this “old” so simple syntax of the second example :

-1 234
3 45 : . . .
123y alignr matrix {-1#234##3#4 5##-123#%gamma cdot Y%ooméga##%pi#l }
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